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Time : 3Hrs. Sem. VI/EC Engg.

Digital Electronics-II

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

21603 OT6024 OT6024

8

8

Explain the various characteristics of D/A convertor.

D/A 

astable multivibrator.

Draw circuit-diagram of op-amp based integrator

and explain its operation.

op-amp  

(i) Punched card

(ii) Magnetic tape

OR

9.

8.

OR
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        
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Which of the following in non-linear device.

(a) Integrator

(b) Differentiator

(c) Clamper

(d) Both (a) and (b)

This is circuit diagram of .............

(a) Integator 

(b) Differentiator

(c) Clipper

(d) Clamper

Explain LED TV in brief.

LED 

OR

Answer all Five Questions. 

Explain the operation of counting type A/D 

converter

A/D 

7.

8

8 x 5  = 40
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(iii)

(iii)

(iv)

(ii)

Which of the following circuit may act as

a rectifier

(a) Clipper

(b) Clamper

(c) Integrator

(d) None of these

An UART is used as.............

(a)  Receiver

(b)  Transmitter

(c)  Both (a) and(b)

(d)  None of these

6.

4

4
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What is multivibrator?  Write its different types.

over weighted resistor D/A converter?

D/A R-2R 

D/A

What do you mean by paper tape? Where was it 

used?

What is optical storage? Write its types.

OR

OR

5.
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(v)

(v)

(vi)

(iv)

Binary number.............shows even parity.

(a) 1101010

(b) 1111010

(c) 1001010

(d) 1000011

Which of the following is also called flip-flop

multivibrator.

(a) Astable multivibrator

(b) Bistable multivibrator

(c) Monostable multivibrator

(d) None of these

OT6024OT6024

4.

4

OR

What do you mean by serial and parallel data 

transfer?

Explain the operation of multiplexer with the help

of an example.

What do you mean by EPROM?

EPROM 

3.

OR

4
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In multivibrator circuit, transistor is used as:

(a) Amplifier

(b) Switch

(c) Oscillator

(d) None of these

Schmitt trigger is used as..........

(a) Level detector

(b) Sawtooth wave generator

(c) Both (a) and (b)

(d) None of these

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

What is the difference between static and dynamic

memory?
4                     

(xx)

OT6024 OT6024
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In which of the following memory, the 

memory locations are organized in sequence.

(a) Shift register

(b) RAM

(c) ROM

(d) All of the above

RAM is fabricated using...........

(a) Bipolar technology

(b) Unipolar technology

(c) Bipolar or unipolar technology

(d) None of these

The arrangement of ...........on a disc is called
format.
(a) Tracks
(b) Sectors
(c) Tracks and sectors
(d) None of these

In ..............memory, contents of memory 
location change with time.
(a) Static
(b) Dynamic
(c) Static and dynamic
(d) None of these

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT6024OT6024
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Which of the following is digital display:
(a) LCD display
(b) Seven segment -display
(c) CRT monitor
(d) Both (a) and (b)

In CD-ROM, laser light reflected from a pit
is ...............out-of phase with the light 
reflected from land .

0(a) 180
0(b) 90
0(c)  60

0(d) 30

Number of address lines required in a memory

of 8 kilobyte is.........

(a) 10

(b) 13

(c) 3

(d) 8

Magnetic memories are: 

(a) Cheap

(b) Costly

(c) Highly efficient 

(d) None of these

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Which of the following is secondary storage 

device.

(a) Hard disk

(b) CD ROM

(c) RAM

(d) Both (a) and (b)

Which of the following h-bit D/A convertor ,

number of resistors required is 2h

(a) R-2R ladder

(b) Weighted -resistor

(c) Both (a) and (b)

(d) None of these

Which of the following is a characteristic of
D/A convertor.
(a) Resolution
(b) Accuracy
(c) Both (a) and (b)
(d) None of these

Number of clock -pulse required for 
conversion for 3bit successive - 
approximation A/D converter is .............
(a) Three
(b) Six
(c) Eight
(d) Nine

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT6024OT6024
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Draw pin-diagram of IC 74155 and explain its 

main pins in brief.

IC 74155 

Explain the construction of hard disc.

                                   OR

                                   OR

10.

8
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Draw pin-diagram of IC 74155 and explain its 

main pins in brief.

IC 74155 

Explain the construction of hard disc.

                                   OR

                                   OR

10.

8
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Explain the operation of weighted register D/A 

converter with the help of its circuit -diagram.

(i) Sampling theorem

(ii) Decoder

8

11.

OR

***

18 21603OT6024

Explain the operation of weighted register D/A 

converter with the help of its circuit -diagram.

(i) Sampling theorem

(ii) Decoder

8

11.

OR

***
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